ool s
ohuwgio Jgl 69> :pids ouly

..Q.),Twé‘\gl)x}g‘;bg;dwl,ce

Y(Ya—ob)+f(Ya—vb) =

a(fa—Y)—v¥(va—0o)=

a_ b \ _

s B=Yy—%xy s A=x—Yy+4V¥xy )jl @
Cwd @ 1y )y Ol Jools aislh C=Yxy —
A 9T

@ A—YB—yYC=
%—YA—C:

*A—TB+oC=

sa=Y ghhlal, da—Yb+ fc Oyle o3 )l.ﬁ.&@
.\.,'.ZSuLuo c=—Y 9b:—\

Yn—Y

ko> lade abl ———
) > ) (+°

) ,ﬂ|&f|n¢1.,;|\0
S I ) o83 9 o2y

:uislgjlbpb gL

:L}uUS

UA,'U:“«X»[{bw);UZlA_?,«\/»l.3|)w)é:\1-o-?@
SuS

b err Oile O Gz oz 1z b

Colus (6 507 O)le ALY OT 42,2 9 X (ubitune Jsb ,S1(E)

...\.g.:Sool.»b)g}QI)L,s@

@) va—¥b—4—Ya—ob+\\

0a— $ab — b —da+ vab —ob

a+vb+$a—$b

apsT s 1 1y 3 Syl Jols @

(Ya+ ¥b)+ (fa—vb)

(va—0)—(fa—9)

(Ya+v¥b—¥fc)—(va—Yb—5c)




